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1.00000000000000000000 R?2000000000000

x(t) = ccost

y(t) = 2csint (t € R)(c = 0)

y(t) =sint + ¢

<a>{ =) =1 (tcR)(ccR) <b>{

2.~y 00000 ADODDOR? 0000000 X O Xe:=Ax (x€R?) 00000000000

ajsfals
(a) A:(f;> (b) A=<gé> () AZ(-?é) @) A:<g—g)
(@) A=<gg> (f) A=<gg> (8) A=(é?> (h) AZ(;?)

o a4 )

() X 000000000000

(2) X0 1000000000000 O0O0OUOOOODUbODOOOOOoOO

() 0000000 (i) 000000000000000 (i) 00000000

1

3. a0 OOOO0O fz)D00OROOOOOOO XDXI::m(xER)DDDDDDDDDD
goooad

(a) f(w)=x21+1 (b) f(x)—lsz () flz)= ;H

(@) fla)=e © @)= O f@=-cshe (@) f@)=—0o

()X o0ooooooooooo

(2) X 0ODOOODOO0OO0oO0O0

4.)~m0000 nO00000 MOOOTMOOO0O0 MxR*OODOOODODOOOOOO

(a) 3000000 M=T3=8'xS'xS! (b)) 4000000 M =T*:=8!'xS! xS! x 8!
(¢ 70000 M =S7 (d) M =S8!'x83

(e) OO M=S'xR (f) M =S! x R?

(gy 2000000 M=S*’xR (h) nooboooh M =82\ {(0,0,1)}

00000000
O0000MTHCcRETT CTRE=RExR* 0000 M OOOOOODOOO004000000000
O0D000000WMCRS,TMCcTR=RSxR 0000 MOOOODODOODDOO 400000
000000000000 M=S'xRCR},TMCTR}=R}xR* 0000 MOOOOOOOO
002000000000000000000)MCcRYTMCTR*=R*xR*0000 MOOOO
000000300000000000000000() M=S2xRCcRYTMCTR*=R*xR*D

000 MOOODOOOODO30ODOOOOODOOOOODOOO0O0Om
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5.0 n00000 MOOOTMODDOOOD MxR*"OODOD0O0OO0OO0OMOOODOOOODOOOODO
oono

6.0 MO nO0O0O00OOOMO MOOOODOOOOOO #:M>MOOOOOOOOOO0D0O0O0O
000000OMOO0OOTMOOOOO MxR*O0O0D0O0O0OOMOOO TMOOOOOOO M xR
ooooooboooogo

7.00000 HOODOOO¢=-10000 ¢q000000020000000000000

8.~ 00000 HOOOODDOOOOOOOOOO ¢0000000
(a) ¢*=1 (b) ¢>=i+j () ®=i+j+k (d) F#=1+i+ji+k (e) *>=—-1+i+j+k
9.~ 0 M(3,R)00000 GO

(a) G := 50(2, 1) = {P € M(g,R) | tPE271P = E2717detp = 1}, E271 =

o O =
O = O
o

(b) G:= z,y,2€R

o O =
o =R
Ll SN

000000000000000
() G0 SL(3,R) 0000000000000

(2)G0 MB,R)0=R°000000000000000000000

(3)000 EDDOOD GOOOD TsGOO0O00

(4000 AeTp,GOOOOXg=A0000 GOOO0O0OO0O0O000 X00000

10.()~ 0 M(3,R) 00000 GO

(a) G:{(£ ?)eM@ﬁ)Pe&aneRﬂ
— P q 2

(b) G'_{(to 1 >6M(3,R)PESL(2,R),qER}

(0) G::{( f; 0 ) € M(3,R) ctPP:Eg}

(d) G .= {( £ ? > EM(?),R) tPELlP:El’l,detP: 1,q€ Rz}, El,l = < (:; _(1) )
z u 0

(e) G:= y 0 x,y,z,u € R, xyz =1
0 0 =z

000000GO MB,R)0=R°000000000000000000000000000000O0
() GO SL(3,R) 0000000000000
(2)000 E0DDOD GOOOO TpGO0O000

(3) 000 AeTpgGUUOUUX=A0000 GUUO0O0D0O0O0OODO0O XO0O0OOOO
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11.0 MOOOOOw; (¢=1,2,3,4,5,6) 0 M OO 1000000000MOO0 300000 w:=

wiAwr Aws+ws Aws Awg DO0D0DwAw=000000000000

12.0 M O00O000w (i=1,...,n),n; (j=1,...,n) 0 MOD 100000000 0w =Y _ ayn

(i=1,...,n)0000a; 0 (5,j) 00000 000000 ADOOOD
WA Awy,=detA-m A--- Ay,

goooboooobooon

13.)n( 0 fog, hORP*00 C*0000000R* 00000000 w,nOd000dw, dwAn, dn,

wAdn, wAn, dlwAn) 0OO00O
(a) w:= fdzy,n:= gdas (b) w = fdxy + gdxa,n = hdxs (¢) w= fdx1,n=gdxs+ hdxs

4.0 f, g0 R*00 C* 0000000R 00000000 w, p 0000dw, dw A1, dy,

wAdn, wAn, dwAn) 00000
(a) w:= fdxi ANdxe,n = gdxs (b) w= fdri,n = gdxs A dxs

15.0 f,¢,h0 R*OO0C*0000000RA0OO00000 wy = fdry, wy = gdxs, wg = hdxs 00

Ddel/\WQ/\W3,wl/\dWQ/\W3, w1/\w2/\dw37 d(wl/\w2/\W3) ogooood
16.0 z=2+yi 000000d2Adz0 dz 0 dyOOOO0D00O0O

17.0 RP000000 wy = —medry, we =21de, 0000000000000
()0 dwy, dws 00 OO0
2)DR2DDDDDC"ODJordanDDDCDDDD/wl /wQDDDDDDDDDDD]DD
/wj. /zw]]—12) :C—-R*000000000
3)0 R*O0DOODOOODODODO ROO Sl(R)DDDIZII]D/Sl(R)wj(j—l,Q)DDDDDDD

(4)000 F:[0,00)xR—=R?>0 F(r,0) :=(rcosf,rsind) 000000 F*(w +w) 0000MMDOO

O0O0OR20000 () 00000w; 4w, 0000 O
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18.0 RP°000000000D0O000 S?200000000000000000 {(Ve,v+)} 0000

(V_,_)0000000 (z,y) 0000

1
=5 drz ANd
YTz

0000000 00000000 S20000000¢%da, ¢*dy, ¢*(dz Ady), p*0 00000

(1)2z; 00000 000
(z,y) = p(u,v) := (ucosf —vsinf, usinf + v cos )
6
(2) 00 xgzmltaDQDDDDDDDDDD
(z,y) = p(u,v) := (ucosf +vsinf,usinf — v cos )

(3)2; 00000 7000
(@) = o) = (s s )

+ 027 2 4 0?
4) 2, 00000 7000
—u v
(z,y) = p(u,v) :== < >

u? 4+ 02’ u2 402
(5)0 2=z +yi,w=u+vi,y=a+Bi 00000000000000000000 o,4000000

gboomuobooobo legbooboooogoonom

19.00 180 wODDOODODOOODOOOOOOO
(I)DD/wDDDDDDD

S2
(2) Us_ O SQDDDDDDDDDD/ wOOoooooo

Us_

20.00 180 wOO

(z,y) = p(u,v) = (u? — v*, 2uw)

00000000 C* 000 ¢:8?—-»S20000000000000
(1) p*dz, p*dy, ¢*(dx ANdy), p*w 00000

(2) 0O / o'w 0000000
S2
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1
21.0 R®*°00 2. 0000000000 200000 w=—dniAdz, 0000000000000
Zs3

()23 00000 400

(1,22, 23) = P3(y1,y2,¥y3) := (y1 cos O — yasinf, y; sin @ + 3 cos 6, y3)

O0000v¥s*w 00000

6
()00 s2=stan; 000000000

(1,22, 23) = Yo(y1,y2,¥y3) := (y1 cos O + yasinf, y; sin @ — yz cos b, y3)

O000¥"'w 00000

(3)z, 00000 600

(w1, 2, 3) = P1(y1,Y2,¥3) := (Y1,y2 cos O — y3sin b, ya sin 6 4 y3 cos )

0000v,*w 00000

()2, 00000 600

(951,?52,553) = ¢2(y1,y2»y3) = (y3 sin 6 + y1 cos 6, Y2, y3 cos O — y1 sin0)

00004*w 00000

22.00000000000 RODOO S3(R)00000000000000000 {(Uis,pix)}iz123 0

000000000 6,000 60000000 (Vo) 0O

V :=8%(R)\ {(x1,x2,23) € S*(R) | 1 < 0,25 = 0}

T T
(z1,22,23) = 1/}‘1(91,02) := (R cos 61 cosfa, Rsin 6, cos bz, Rsin0) (—m <61 < =g <Oy < 5)

00000000q:S*R)—R*0000000000 210 «w00000000000O00O0
(1) (Ui4,914) 0000000000 *(¢*w) 0000
O ioprs 'y (Uy) > RP 0000 (i0¢ ) (¢1*w) 000D M
(2)DD/ #wO0000000
U3+
(3) (Uss,p2.) D0DDO0DO00DDO i*(¢ho’w) D0DOO
O dowoy Loy (Upy) = R3O000 (10 ey H*(*w) 00D DO
(4)DD/ #wD0000000
U2+0U3+

(5)0 (V) OOUOOOOOOUDO 6,000 6, 00000 ¢wOOOO

(G)DDD/ #fw0000000
U1+ﬁU2+ﬂU3+
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23.0 RRO0OOOODO

w = r1dxo A dxs + xodxs A dxry + x3dT1 N dTo

0000000000000
()0 dw 00000
(@DI@DDDDDDDDDDDDDDSQDDDDDD/;wDDDDDDD]DD/pw:/:fM

S S S
i:$* > R200000000M

(3)0 00000000 0¢:R*—-R30 2300000 0000000

T Y1 y1 cosf — yo sin 6
To =p| ye = y1 8in @ + yo cos f
xs3 Y3 Ys

0000¢*w 00000
(400000000 s2000000 {(Va,+)} 0000 (V,,y,) 0000000 (z,y) 000000
YI1:R2 >V, CcS?000+#w 00000 (1) (*w) 0000M00000S? 000000 i*w O

(z,y) 00000000000 D00%;' 0000000000 (¢34 0000000
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24.0 DO R?’00 C*0000000000000000ODOOOD opOOOODODOODOOOOO

(z(t),y(t)) 00000D0PD O00DDO000000D0000 nO00000O0

ooooooo

(WO DOODODODOD C?0000 f000000000O0O0OOOOOOOO0

af

dt :/ Afdx A dy
ap On D

(20 DOODODODODO C?0000 f,¢00000000000000000000

ag_ g _ -
/aD(fan gan)dt /5(ng gAf)dx A dy

00000d{f(—gydx + gzdy)}, d{g(—fydx + fdy)} DOOO0DODO

25.0 DO R?200C*0000000000000O0O0O0ODOO0OO ¢pO0O0OO0OODOOODOOODO

(z(t),y(t)) 000000 000000000 D0000O0O

n = (y'(t), —2'(t))

0000000DDOOO0OD0OO0O00 C'000000 X=(f¢) 0000000000000 O0O0OO00000

/ <X,n>dt:/didex/\dy
aD D

00000divX =f,+g,0000(X,n)dt0 de,dy 000000000
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26,0 DO RPOO C*0000000000000ODODOOOO @DO0O0OODODO UODODODOOO
00000 (u,0) 000 F(u,v) = (x(u,v),y(u,v),2(u,v)) 00000000000 O00D OOOOO dS
ouno

dS|uy = ||Fy x Fy||du A dv

goooooo o opOOOOODOOOOOOOOO nODODOODOO

ot (Yuzo — z)ﬁ—l—(zx —zx)é—i—(a: - )2
an - ||Fu><F'UH yu v yv u al’ uUrv viu ay uy’u ’Uyu 32

googboobooboooon
(1) F*(dz ANdy), F*(dy ANdz), F*(dzANdz) 00000

(2)DO000O0O0O0O ¢c?0000 000000000000 O0O0OOOOOO

gdS:/ Afdx ANdy N dz
ap On D

(3 DO0O0O000 ¢20000 f,¢00000000000000000000

99 0
/{)D< ai_gai)dS:/(ng—gAf)dx/\dy/\dz

D

O00000d{f(g9zdy Ndz + gydz Ndx + g.dz ANdy)}, d{g(fzdy Ndz+ fydz Ndx + f.de ANdy)} DOO0OO

0

27.0 DO RP*O0C* 0000000000000 O0O0OOOO ¢pOO0O0O0OO UODODOO
00000 (uw,v) 000 F(u,v) = (x(u,v),y(u,v),2(u,v)) 000000000000OD OOOODO dS
oo

dS|y = ||Fy X Fylldu A dv
00oo0ooo oD D0OO0D0O0O0O0ODOODOOODOODO

F, x F,
|[Fu x Fy|

oooobooobooboobon
(1) O F*(dz Ady), F*(dy Ndz), F*(dzAdz) 00000

(0 DOO0O0OO0OOO ¢'000000 X=(f¢h)00000000000000000000

/ <X,n)dS=LdiVde/\dy/\d3’
aD D

0o0000divX =fa+g,+h.0000(X,n)dS 0 de,dy,d2000000000M



